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PASS
HS | &0 AR BT | ¥—F | TD | INT
9 5 —8F 16 8 122 2 0
RUSH INTERCEPTION
E Rl K2 E% | ¥—F | TD Rl B 14 D
25 =8 K 7 70 1 49 |EX 0
31 |RR #HE 15 81 0
9 5 —8F 1 Ab 0
15 |fA  F=A 1 3 0
RECEIVE QB SACK
Rl K2 E% | ¥—F | TD S |BH [E] %%
17 |BR =5 3 59 0
31 |Rk #E 2 17 0
19 |ZHB E& 1 14 0
15 |fA  F=A 2 23 1
25 =8 K 1 9 1
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HS | &0 AR I | ¥—F | TD | INT
2 A B8 29 18 132 2 1
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9 W — 10 36 0
5 HE 1B 10 32 0
7 K —HA 6 42 0
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2 | E—RP 2 A3 0
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9 W 2 2 0
7 R —H3 9 65 2
81 [Ivh B 1 2 0
1 CILU: 3 45 0
13 |3RA BEKER 2 16 0
4 TH EIE 1 2 0




